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A. Match the words in A with their definitions in B.

A
B

	1. handsome
	......
	a. the day, month and year

	2. ruined
	......
	b. answer

	3. prevent
	......
	c. wrote the name, house number and street

	4. alone
	......
	d. the only person in the place

	5. reply
	......
	e. destroyed

	6. date
	......
	f.
good-looking

	7. addressed
	......
	g. stop

	8. risk
	......
	h. put in danger


B. Circle the INCORRECT answer.
1. The King of Bohemia

a. wanted to marry Irene Adler.
b. wanted to get back a photograph and some love letters.

c. introduced himself to Sherlock Holmes as Count von Kramm.

2. Godfrey Norton

a. is a lawyer.
b. marries Irene Adler.
c. is Irene Adler’s servant.

3. Irene Adler

a. dressed up as a man.

b. gave the king the photograph he wanted.

c. followed Sherlock Holmes to his house.



4. Sherlock Holmes

a. drove Irene Adler to the church.

b. was a witness at her wedding.

c. dressed up as a groom.

5. The men in the street started a fight

a. to help Holmes get into the house.

b. because they both wanted Miss Adler to pay them.

c. because Sherlock Holmes gave them money.
6. Irene Adler’s letter

a. was addressed to the king.

b. was behind the picture in the sitting-room.

c. was addressed to Sherlock Holmes.

C. Complete the following sentences by choosing the correct form of the verb in brackets.

1. Dr. Watson (isn’t seeing / doesn’t see) Holmes very often.

2. The postman (delivers / delivered) the letter to Holmes yesterday.
3. Sherlock Holmes (is often wearing / often wears) disguises.

4. Miss Adler (wasn’t / weren’t) at home when Holmes arrived.

5. Irene Adler and Godfrey Norton (drive / are driving) to the church now.
6. After Miss Adler drove away, Holmes (hurries / hurried) after her.
7. Miss Adler (will show / shows) Holmes the photograph tomorrow.
8. Before Miss Adler arrived, Holmes (pays / paid) some people to help him.

D. Fill in the blanks with the correct form of the verb in brackets.

1. .............................. the King of Bohemia
(write) the letter that arrived this

morning?

2. The king looked for the photograph but he
(not find) it.

3. Irene and Godfrey
(drive) away; then Holmes followed them.

4. Don’t
(throw) the smoke rocket until I lift my hand.

5. Irene Adler and her husband
(leave) England a few hours ago.
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